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Cluster: 0057 ptr; resid: 0.32; r/c: 39/56

x.range

upstream meme PSSM #1; e=13

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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10862
24978

27190

969735766

10209

11016

16856

21664

25752

32065

35568

36311

36390

36403

37843

39650

39942
42504

42590

42755

44320

44576

44765

45055

45331 46838

47206

47418 47575

47670

48124

48725
49302

50065

50344

54296

55069

9444

string −500 −400 −300 −200 −100 −1
47670−0.02
44320−0.02
42755−0.09
47575−0.11
21664−0.12
47206−0.19
47418−0.24
11016−0.24
35568−0.28
45055−0.38
32065−0.52
50065−0.63
39650−0.70
16856−0.71
35766−0.76
36390−0.78
39942−1.00
42590−1.00
36403−1.04
36311−1.28
24978−1.72
55069−1.90
48124−2.42

9444−2.48
37843−2.52
48725−2.61
46838−2.83

9697−3.27
10209−3.44
10862−3.48
49302−3.51
44576−3.64
27190−3.89
25752−4.05
44765−5.17
45331−5.74
50344−6.18
42504−6.20
54296−6.69

log10(P) upstream meme1 2 log10(P.clust)=−2.10; 39 seqs; 39 uniq
c(0.5, 2.5)
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